
Math 150  Spring 07         Name: 
 

TEST #2 @ 150 points 
 
Solve the problems on separate paper. Clearly label the problems. Show all steps in order to get credit. No proof, no 
credit given 
 
1. Graph the function cosy x= . Show the graph over two periods. Answer the following questions: 
 a) What is the domain? 
 b) What is the range? 
 c) What is the period? 
 d) What is the amplitude? 
 e) What are the x-intercepts? 
 f) What is the y-intercept? 
 g) Is the function even or odd? How is that shown in the graph? 
 
 

2. Graph  2sin
3

y x
π = − 

 
 over one period. Identify the amplitude  , period, and phase shift and label the axes 

accurately. Explain in words what and how you are graphing. 
 
 

3. Graph ( ) sinf x x=  and ( ) ( )1 1sinf x x− −=  on the same coordinate system, showing the relation between the 
two graphs (symmetry about the line y x= ). Answer the following questions: 

 a) What is the domain and range of ( ) sinf x x= ? 

 b) What is the domain and range of ( ) ( )1 1sinf x x− −= ? 
 
 
4. Evaluate the following. Give exact answers whenever possible.  

 a) 1 1
sin

2
−  

 
 

 

 b) 1 3
cos

2
−  

−  
 

 

 c) ( )1tan 1− −  

 d) 1 3
cos sin

5
− 

 
 

 

 e) 1 5
sin sin

8
π−  

 
 

 

 f) 1 2
cos cos

7
π−  

 
 

 

 g) ( )1tan tan 100.23−  

 h) cos15o  
 
 
 



5. Prove the following identities: 
  

 a) 
sin 1

tan
cos cot

x
x

x x
+

=
+

 

  

 b) 
cos 1 sin

1 sin cos
t t

t t
−

=
+

 

  

 c) ( ) tan tan
tan

1 tan tan
a b

a b
a b

+
+ =

−
 

 
 
6. Solve the following equations.  
   When appropriate, show EXACT answers.  
   ONLY when  NO exact answer is possible, express solutions rounded to two decimal places. 
 
 a) Find ALL solutions:   2sin 1 0x − =  
 
 b) Solve on [0,2 )π :   sin(2 ) 1x =  
 

c) Solve on [0 , 3 6 0 )o o :  2tan 2 0θ + =  
 

d) Solve on [0,2 )π :   cos 0.8θ = −  
 

e) Solve on [0,2 )π :    22sin sin 1 0x x− − =  
 

f) Find ALL solutions:   sin2 cos 0θ θ− =  
 

g) Solve on [0,2 )π :       22sin 2cos 1 0θ θ− − =  
 
 
 














